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Cooking Division

Solve the following word problems.

Sarah has 20 cookies that she wants to divide
equally among her 5 friends. How many cookies
does each friend get?

John has 45 pounds of potatoes. He wants to
divide them equally among 5 bags. How many
pounds of potatoes will each bag contain?

Emily has 36 pints of milk. She wants to divide
them equally into 6 bottles. How many pints of milk
will each bottle have?

David has 24 cups of sugar. He wants to divide
them equally among 3 jars. How many cups of
sugar will each jar contain?

A bakery has 84 loaves of bread and wants to
distribute them equally among 7 stores. How many
loaves of bread does each store get?

Mike has 48 pounds of apples. He wants to divide
them equally among 6 baskets. How many pounds
of apples will each basket contain?

Emma has 27 cups of rice. She wants to divide
them equally into 3 containers. How many cups of
rice will each container have?

A chef has 30 tomatoes and wants to divide them
equally among 5 plates. How many tomatoes does
each plate get?
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